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Third Semester B.Com. Degree Examination,
August/September 2021
(CBCS — Semester Scheme)

Commerce

Paper 3.6 - QUANTITATIVE ANALYSIS FOR BUSINESS DECISIONS

Time : 3 Hours/ [Max. Marks : 70

Instructions to Candidates : Answers should be written completely either in English or
in Kannada.

SECTION - A/ Q%1 - &

1. Answer any FIVE sub-questions. Each sub-question carries 2 marks : (5 x 2 = 10)
03B TR DR TN U302, B,3030TTR, 2 ©I0TNYD !

(a)

(b)

(g

What is positive correlation?
5@0@3@? 3B F0WOR 0BTBEBO?

What is probable error?
RoydSDeod 3B), QoBTETI?

If N=15, ZXY =122 g, =8.1620, G, = 3.464 find ‘r’.

N =15, EXY'=122 o, =3.1623; oaF 3.f04 300 ﬂaﬁomoddﬁiﬁom &ROWD.

State the components of time series.

RBo0d ATeseady WoBNYE), $YA.

Mention any two merits of sampling.

‘ST 0 030R)WIBTR DT em;a’airaerimfﬁodé@h

What is an event?
018 aoEvdeso?

What are the methods of sampling?
INEO0D FNLO 03NTH)?
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SECTION - B/&yen - @

Answer any THREE questions from the following. Each question carries 6 marks :
(3 x6 =18)
037033 TWTR ST BB o3, 3,8 ADINE YLITT, 6 WOTTE

Calculate the probability of picking a card out of a pack :

(a) a diamond or a spade?

(b) aKing or a Queen?

2070 T35 WAees* S word ST, ok, IRBEN

(@) 20w BEoow® Ve 203 BB He0dR), Iriodns ozeas HR)?
(b) 2080 Tt 9T WO Taed adcxbabﬂ 3ricdoz BoTT eoa&%;?
Ascertain the size of the sample from the following particulars :
(a) An allowable error of 10 days with the true average

(b) Standard deviation 25 days

(¢) Confidence level 99%
(d) Z value at 99% confidence level = 2.5758

391t 3.083008 B30T SPEOAD MTTT), FoB) LBOWD.

(2) Quws 3oeE00b FONERGE IByrieo 10 BSAW
(b) TIPeI3 BT 25 BINY
(c) SoR8 $ot3,99%

(d)  DoDE ey 99% I, = 2.5758

Calculate Rank correlation co-efficient from the following data :
Bt S,0E300S w03 ©0BRYod 8eed 3B F0WOFITY, ForE) HROD :

X 10080t 60. 78 62065 82 65
0 ST 2 A T MG ¢ 16 10

Estimate the population for the year 2015, using Binomial Expansion method
with the following information :

20150 w©033,0008), 8 TYNT B70L302208 1Td00eF HF0F IPITHO, Wowaesh :

Year :
SR 2009 2030901 "R} SCNDM D015

Population (in crores) :
zsaiﬁoajs (Bpesned) oY 180 138 180" 80 - 120 ?

Obtain two regression equations from the following data, where the deviations
were obtained from mean.
BIrl FpLITHT B30T HTVBO LowoFad FE MILBNYDY, TOBY HROWD. FTIFO0OT

M3OTRYRY, BE DN,
n=20, X=4 Y=2, 2x* =1680, Ty® =320, =XY =480 .
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SECTION - C/&pert - 2
Answer any THREE questions from the following. Each question carries
14 marks : (3 x 14 = 42)
QIPR)TIBTH SARTD IIren eugdr. I3odomd B3 14 wosrieh:

Compute Karl Pearson’s co-efficient of correlation between net income and
expenditure from the data given below and also calculate probable error.
Bt BLEI0OS Bmaoh Ry DFNY WS0WOT BaeF BOLT T TW30000T 3B FOWOTTE),

59,2500 SRR Farie BodSeod 33) 50BO HBOWD :

Income () :

smadb () 150 148 190 220 245 262 237

Expenses ) :

Do @) : 140 152 168 214 237 260 222

The following table gives the results of capital employed and profit earned by a
firm in 10 successive years.

Mean Standard Deviation

Capital employed (¥ in 000 : 55 28.7
Profit earned (% in 000)) : 13 85
Co-efficient of correlation 0.96

(a) Obtain the two regression equations.

(b) Estimate the amount of profit to be earned if capital employed is

Rs. 50,000.
(c) Estimate the amount of capital to be employed if profit earned is
Rs. 20,000.
2030 ﬁo:u; 0do 10 SRENYY, NMYAs etg =3) woBY ef.'):‘\’)od‘re)c'r*ia’&gt FRBOING :
Fleprte) TSedE Ao
worEzY Adadeen X 000'NHe) : BS 28.7
neas ezd X 000’ ned) i3 8.5
ABI0WOG BBNOLT 0.96

(a) TR bowosoh 35 rbeaﬁﬁ@abq Tor) HBOWD.
(b)  woBme¢ VLR Be. 50,000, 'aca'%ri neas oaa;iwaigi BOTIA.
(c) nYAw ey dwe. 20,000. QWM WOBTY &’)K)o.‘i.r.)er#dﬁgt MO DB,
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Estimate the production for the years 2017 and 2019 with the help of the
following data :
Bt S,t30OD 3303003 2017 S8 20198¢ IRFNY eﬂ.):if.ah)tziﬁso.iot‘\iq=L 0TI |

i :
5;?: 2014 2015 2016. 2017 2018 2019 2020

Production (in tonnes) :
emsaacdai (édai‘ﬁt’éQ) 400 440 520 - 700 — 960

Below are given the wages earned by workers per month in a certain factory.
Interpolate the number of workers earning more than Rs. 150 per month.
By applying Newton'’s method.

Monthly Income Number of workers

(in %)
Upto Rs.100 100
Upto Rs. 120 300
Upto Rs. 140 600
Upto Rs. 160 1000
Upto Rs. 180 1400
Upto Rs. 200 1600

FRE R 0D, =3 BT TIQIFTT Re2T éeéaﬁﬁé 30200000 8Os 90555% 2ot Qededns. aaﬁé
o ¥0) 150%‘503 B3, BEIDTY RS TaAETO ﬁc:mj?jo.brdq:t 3030 HBOWDY, Muwﬁ DPITITY,

vﬁaosoz;a.
Monthly Income Number of workers
sone eswaod {SRianiels] ‘-J.oa.’;25
(in )
gw. 100 o381 100
g, 120 =81 300
S, 140 o= 600
G, 160 5331 1000
gs. 180 T=0R 1400
gs. 200 =818 1600

Calculate trend values by the method of least-squares from the data given
below :
30, S DEIVBE,_ 20T ROY 23,8 0d0m, £0D2D Borie Tewd Sg03d, ef0w’ 2330300,

rodosy, 20213 Oa‘l;izimqﬁoaa &30 :

Year : 3 _

I3 014 2015 2016 2017 2018 20 1902020
Profit € in 000)) : v Y

ontd € 0007T98) :  ©0 43 T Bodcibin SEBEwtroR) 080

Plot the values on a graph. Also estimate the profit for the year 2021.

4/4



